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£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.14 N B/ S
PN e El El kil = 551 5 5 i) 5] E B B - - -
= =1 (C) 6.5 15.0 19.5 22.5 23.0 15.5 18.5 9.8 3.1 2.0 1.5 11.8 23.0 1.5 12.4
7k =1 (C) 14.0 16.0 17.0 16.5 17.0 18.0 17.0 16.5 14.0 11.5 11.0 12.0 18.0 11.0 15.0
— i (ImLH) 0 0 0 0 0 0 0 0 0
N 1% (MPN/100mL) 0 0 0 0 0 0 0 0 0
HKRIT AR PZEDOIRLEDY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
K R O 2 O {8 A WY (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L kY ZE O E WY (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
o &k Y 2 0 B A& W (mg/L) — — <0.001 — — 0.002 — — <0.001 — — <0.001 0.002 <0.001 <0.001
EE K B ZE 0 b EAE DY (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
N oflior o m A b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.005
il fi§ i3 fié = ES (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T A A A R O Ak T v (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
Y fERE 2 K K NI RS MR RE E R (mg/L) — — 0.29 — — 0.28 — — 0.24 — — 0.21 0.29 0.21 0.26
7 v & ok &Y (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
R U R * 2 O b A& Y (mg/L) — — 0.05 — — 0.04 — — 0.09 — — 0.09 0.09 0.04 0.07
Py H k& R F (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4- % %+ X A N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
VA-1,2-V/munxF Ly KRN T A
12- ¥ 7/ g g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
Y U = A (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F K o o o F Lo (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
U n T F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ + N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
i F fiz (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
4 = = ik fize (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
J = = 7z JL UA (mg/L) — — 0.0002 — — 0.0001 — — 0.0001 — — 0.0003 0.0003 0.0001 0.0002
v 7 = = i iz (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 n ® 7 o ona A H v (mg/L) — — 0.0004 — — 0.0004 — — 0.0003 — — 0.0002 0.0004 0.0002 0.0003
5 F i (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
wor U N o om X H (mg/L) — — 0.0010 — — 0.0009 — — 0.0008 — — 0.0006 0.0010 0.0006 0.0008
N, == (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 n v ¥V 7 nona A K v (mg/L) — — 0.0003 — — 0.0002 — — 0.0002 — — 0.0001 0.0003 0.0001 0.0002
7 = £ 7z JL UA (mg/L) — — 0.0001 — — 0.0002 — — 0.0001 — — <0.0001 0.0002 <0.0001 0.0001
KA v A 7 A 5 kK (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
o &K X F 0 B A& WY (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TNANI=U AR OZEDOLEWY (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
% kM O £ o b & B (mg/L) — — 0.01 — — 0.02 — — <0.01 — — 0.01 0.02 <0.01 0.01
i K N = O b A& W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
T LRI AR O EZEDOIWEDY (mg/L) — — 9.7 — — 8.9 — — 14 — — 15 15 8.9 12
~ v H kR BE O AEWY (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
i e i A % N (mg/L) 5.4 5.2 5.0 4.2 4.1 4.8 5.3 5.5 5.5 5.6 5.7 5.7 5.7 4.1 5.2
VISR SRy - C T i ) (mg/L) — — 100 — — 78 — — 150 — — 150 150 78 120
7% 7 5% e Y (mg/L) — — 210 — — 187 — — 288 — — 300 300 187 246
b2 A4 A& v Hom 3E M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
D - 7 A 3 N (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
2= A F ) A4 Y K )V R F — )b (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
A A o Fom JE M A (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL ¥A (mg/L) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (& A B R FEJT0C) o &) (mg/L) 0.1 0.2 0.3 0.3 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.3 0.1 0.1
D H fiE 7.5 7.3 7.2 7.3 7.5 6.9 7.3 7.4 7.2 7.3 7.3 7.1 7.5 6.9 7.3
S HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL — — L
B X HERL HERL HERL HERL BERL BEL HERL BEL HERL HERL HERL FHERL — — L
=) & (%) <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
) 5 () 0.2 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.2 0.1 0.2 0.1 <0.1
% by F (mg/L) 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.2 0.2 0.3 0.2 0.3 0.2 0.3




2 KKK KE R
[1] fERkE v 2 —EN
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£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.14 SN B/ L
T FELUCREOZEONEY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v v kN E O AW (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= Fr Lk OZEOIE W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 m v =x= X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ JL - N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
THENLVEBY (-2 F )L ~F L) (mg/L) — — <0.001 — — — — — — — — — — — <0.001
il oy F fiz (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Yy /7 mnu 7 k& kr=+U (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
I S = . 2 (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
= 3K Bl — — <0.001 — — — — — — — — — — — <0.001
i3 e 15 73 (mg/L) — — 6.3 — — — — — — — — — — — 6.3
Liyl- v Y 7 vom o= ¥ (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )V —t-7 F )= —F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B OX ® E (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B (77 7 kR %) — — -1.2 — — — — — — — — — — — -1.2
1€ & e = il (ImLH) 2 2 2 2 4 4 4 2 2 4 24 6 24 2 5
Ll- ¥ 7 g g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
NNVTINVARFY R ANV BR(PFOS) M TN

~NNVTVAaE A ER(PFOA) (mg/L) — — <0.000005 — — — — — — — — — — — <0.000005
B = e i i (MPN/100mL) — — — — — — — — — — — — — — —
b % B B R OE K & (mg/L) — — — — — — — — — — — — — — —
Aok R B R OHE R E (mg/L) — — — — — — — — — — — — — — —
i 17 fiz ES (mg/L) — — — — — — — — — — — — — — —
ES = F# (mg/L) — — — — — — — — — — — — — — —
ES ) v (mg/L) — — — — — — — — — — — — — — —
I N S R N (mg/L) — — — — — — — — — — — — — — —
i i e Bk (mg/L) — — — — — — — — — — — — — — —
7 - JL s e (MPN/L) — — — — — — — — — — — — — — —
I X e 3 i (MPN/L) — — — — — — — — — — — — — — —
#OOE M o g ER (MPN/100mL.) — — — — — — — — — — — — — — —
7 v ®E = 7 He # # (mg/L) — — — — — — — — — — — — — — —
i) % v 7 JN (mg/L) — — 29 — — — — — — — — — — — 29
~ J s v 7 Iy (mg/L) — — 6.8 — — — — — — — — — — — 6.8
fifit Fige A % N (mg/L) — — 56 — — 52 — — 97 — — 110 110 52 79
Y v i A 74 v (mg/L) — — — — — — — — — — — — — — —
U o |m X X v A R RE (mg/L) — — — — — — — — — — — — — — —
7w 7 v Vi ) E (mg/L) — — 51 — — — — — — — — — — — 51
5 X I B R (mS/m) 31.9 26.6 24.7 19.2 20.2 19.8 28.2 33.3 34.0 34.2 34.6 34.8 34.8 19.2 28.5
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<0.0001

(mg/L)
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(mg/L)

<0.00005

£ 7K H R3.6.8
13- v "/ mwm 7 " n " v (D-D) (mg/L) <0.0001
2,2-DPA( vl 7 > ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 v 2 A (mg/L) <0.0001
7 + 7 - — b~ (mg/L) <0.00005
7 ~ 7 N (mg/L) <0.0001
7 = = 2 (mg/L) <0.00001
7 < I = (mg/L.) <0.00005
7 7 7 o — JL (mg/L.) <0.0001
A >V ¥ H v %+ > (mg/L) <0.00005
A >V 7 - N Zp A (mg/L) <0.00001
A4 Y 7 wa g " (MIPC) (mg/L) <0.0001
A4 Y 7 wm F F 7 v (PT) (mg/L) <0.0001
A4 7 w X v ) A (IBP) (mg/L) <0.0001
A : v J 7 7 N (mg/L) <0.00005
- 2 7 = il JL 7 (mg/L) <0.0001
©— kN 7 = v F v v 7 R (mg/L) <0.0001
TV RANLT (R o) (mg/L) <0.0001
+ x ¥ ¥ s & AV (mg/L) <0.0001
A X v v d (A B ) (mg/L) <0.0001
+ ¥ 2 ~ =S (mg/L) <0.0001
) 2 va 2 (mg/L) <0.000005
ho 7 = v Ak — )L (mg/L.) <0.00005
V) JL A i JL ( NAC) (mg/L) <0.0001
7 JL R 7 7 N (mg/L) <0.000003
x / 7 7 N (ACN) (mg/L) <0.00005
X XY - NE (mg/L.) <0.0001
7 2 JL N (mg/1.) <0.0001
7 = A 7 = > 7 (mg/L) <0.0001
7 v )b = Kk o 7 = » (CNP) (mg/L) <0.000005
V4 = JL =4 ] 7 2 (mg/L) <0.00001
J w v X% v = v  (TPN) (mg/L) <0.0001
T 7 A N (mg/L) <0.00001
e 7 / i A CYAP) (mg/L) <0.00001
v % = N DCMU) (mg/L) <0.0001
Y 7 = = (DBN) (mg/L) <0.0001
Y sy v 3 R (DDVP) (mg/L) <0.00005
CAALKRRNY(ZF L F A ARNL) (mg/L.) <0.00001
Y el % ° JL (mg/L) <0.00005
VAN = T N 4 F )L (mg/L.) <0.00005
v ~ Y (CAT) (mg/L) <0.00001
D4 A o A ~ U > (mg/L) <0.0001
Y A ~ T — ~ (mg/L.) <0.0001
v A ~ ~ (mg/L) <0.0001
v A 7 Y / N (mg/L) <0.00001
v A N N (mg/L) <0.0001
7 7 Y % (mg/L) <0.0001
7 v 7 A (mg/L.) <0.0002
F 7 D 7 LV -7 (mg/L.) <0.0001
F X 7 7 3 — K A F N (mg/L) <0.0001
7 % ~ > i JL =7 (mg/L) <0.0001
7 7 ) JL b~ + v (mg/L) <0.00001
> v 7 B 7  (MBPMC) (mg/1.) <0.0001
b~ J 7 = =4 % (mg/L) <0.00005
A =T 2 S DEP ) (mg/L) <0.00005
N A A = )L (mg/L) <0.0001
b~ ) 7 JL 7 ) N (mg/L) <0.0001
oA 7 = N 2 K (mg/L) <0.0001
=4 ~2 = 2 (mg/L) <0.000005
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U 2 X B Xy s = F (mg/L) <0.0001
A — )L (mg/L) <0.0001
7 - = 7 = ) K (mg/L) <0.0001
= 7 N = = N (mg/L) <0.0001
A - N N e % (mg/L) <0.0001
= A 5 = YV N (mg/L) <0.0001
vz v X ) 7 na v x F ) (mg/L.) <0.0001
v U RNy AT (mg/L) <0.0001
vy kA A F )L (mg/L) <0.0001
7 7 A ~ = JL (mg/L.) <0.0001
7 JL 7 Y 7 > 7 (mg/L) <0.0001
A= =% ( DCPA) (mg/L) <0.0001
A = N 2R A (mg/L) <0.00001
> wa < 4 X o h  (BPPS) (mg/L) <0.0001
7 v R * 2 L (PHO) (mg/L) <0.0001
7 = A b~ J N (mg/L) <0.0001
A S G . R, A (mg/L) <0.00005
7 X 4 A (mg/L) <0.00001
R 2 ) ) N (mg/L) <0.0001
= J v = ~ Zp A (mg/1.) <0.00001
) = = N (mg/L) <0.0001

(mg/L.)

7 O x ¥ Ak m ¥ v (mg/L) <0.0001
— ¥ 4+ 7 = v 4 A (EDDP) (mg/L) <0.00005
TNV T = (= a A — ) (mg/L.) <0.00001
7 v 7 o N 2 R (mg/L) <0.0001
Vi = = B 7 (mg/L) <0.0001
v A = = N (mg/L) <0.0001
> = JL 4 | — JL (mg/L.) <0.0001
A - T T S . % (mg/L.) <0.0001
o @ A Jb 7 owa v A F gL (mg/L.) <0.0001
= 7 - J > 7 2 (mg/L.) <0.0001
vy 7 v % v 7 = vV (mg/L.) <0.0001
- V VAL v 7 = NE (mg/L) <0.0001
7 I ~ 5 = L (mg/L) <0.0001
A~ v 2 Y R ( SAP) (mg/L) <0.0001
N AR L 7 oa v A F gL (mg/L) <0.0001
Zi + ¥ JL (mg/L) <0.0004
A F v X O - (mg/L) <0.0001
NV Z Bk ARAF L F XY (mg/L) <0.0001
%+ ¥ A 4 7 > N (mg/L) <0.0001
=N S . S . % (mg/L) <0.0001
F) Z oL -2-T7 ¥ LT F L (mg/L) <0.0001
= [N = = - N (NIP) (mg/L.) <0.0001
A o 2% v N (mg/L.) <0.0001
- Ak E U X — b~ (mg/L) <0.0001

£ 7K H R3.6.8

EPN Zh & >V v (mg/L) <0.00001
4 J X ¥ F & v F X vV v (mg/L) <0.00001
A Y T = v K A KX X J v (mg/L) <0.000005
-~ v F 2 N 7 = — |k (mg/L) <0.0001
cC N P - 7 2 ) K (mg/L.) <0.000005
J v b ¥ U K A F x V) v (mg/L) <0.00001
oA T Y ) v F X I v (mg/L) <0.00001
7z = hruvu FF T F xS~ (mg/L) <0.00005
MPP 2 JL ZD S v N (mg/L) <0.00005
MPP 2 % 7 N (mg/L.) <0.00005
MPP 7 ¥ > N (mg/L) <0.00005
MPP # % YV v Z2 )L & ¥ ¥ K (mg/L) <0.00005
MPP 4+ ¥ Y v A JL K v (mg/L) <0.00005
7 4 2 K A X X Vv (mg/L) <0.0001
7 v F F K A 4 F OV v (mg/L.) <0.00001
7 v ¥ 7 F K F 7 v E (mg/L) <0.0001
~ 7 F Ak v F X Vv (mg/L) <0.0001

(mg/L)
7 + o N 7 ) K (mg/L) <0.0001
A4 X X 7 v 7 Y K (mg/L.) <0.0001
A 7 = % 7 Vg (mg/1.) <0.0001
7 7 = A >/ — % (mg/L) <0.0001
= 7 7 = 7D A (mg/L) <0.0001
7 v A A 7 y I R (mg/L) <0.00001
7 = < > JL (mg/L.) <0.0001
~2 N ~ X VA > N (mg/L) <0.0002
i + = N (mg/L) <0.00005
A I 7 7 o — )% (mg/L.) <0.0001
(mg/L)

7 v X ) T )b =S= A F ) (mg/L) <0.0001
7 A b~ ) N (mg/L) <0.0001
A 7 ~ v 7 4 K (mg/L) <0.0001
4 = X L 7 o (mg/L) <0.0001
v = a2 F S = 3 P (mg/L) <0.0001
- r % ¥ ZX N T m v (mg/L) <0.0001
T b~ ~ v A = K (mg/L) <0.0001
S A S - S % (mg/L) <0.0001
% X A N JL (mg/L) <0.0001
> ¥ o K v S = F (mg/L) <0.0001
7 = I 7 = Y N (mg/L.) <0.0001
7y 0w v 7 =) Y K (mg/L) <0.0001
7 v ) X — )L ¥ A F JL (TCTP) (mg/L) <0.0001
J v b ¥ U R A A F (mg/L) <0.0001
Y 7 ma 7 = v F # v (ECP) (mg/L) <0.00005
Y v = A v N (mg/L.) <0.0001
U 7z 7 = v (mg/L.) <0.0001
D4 / 2 % 7 = N (mg/L) <0.0001
Y / 7 7 7 N (mg/L) <0.0001
Y 7 = /) a J = ) (mg/L) <0.0001
Y 7 ) N S = N (mg/L.) <0.0001
Yy 7 v a = ) (mg/L) <0.0001
v 7 = Y = )L (mg/L) <0.0001
D A = + 4 — )L (mg/L) <0.0001
Y A F L E N (mg/L) <0.0001
v A t ~ % — ~ (mg/L.) <0.00001
> 7 7 v F T (mg/L) <0.0002
D4 > A A ) v (mg/L) <0.0001
e 7 J = 7 ) K (mg/L) <0.0001
7 7 A b~ & A A (mg/L) <0.0001
7 7 JL VA 2 K (mg/L) <0.0001
F N5 7 m L ¥ v & A (CVMP) (mg/L) <0.0001
> K 5 o F —  JL (mg/L.) <0.0001
VA 7 7 - J v N (mg/L) <0.0001
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£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.14 I OUN B/ LA
x 52 i El El = = = 5 i) 5] = B B - - -
= =1 (C) 7.3 16.0 23.0 24.0 23.0 18.0 22.2 13.0 3.8 2.5 3.8 13.0 24.0 2.5 14.1
7k =1 (C) 13.2 14.0 16.0 17.0 19.0 18.5 19.0 15.0 12.0 9.5 7.2 10.8 19.0 7.2 14.3
— fi% il (ImLH1) 0 0 0 0 0 0 0 0 0
N 1% (MPN/100mL) 0 0 0 0 0 0 0 0 0
HEREIT AR PZDOIREDY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
K R O 2 O {8 A B (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L kY ZE O E WY (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
o &k Y 2 0 B A& W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
tE EF K X F 0 b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
N oflior v oA b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
il fi§ i3 fié = ES (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T A A A R O by T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
B MR 2 B K N BE G MR ORE B %K (mg/L) — — 0.41 — — 0.41 — — 0.42 — — 0.42 0.42 0.41 0.42
7 v F kY E O AW (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
AU F kT E O EDY (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
Py H k& R F (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4- % %+ X A N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
VA-1,2-V/munxF Ly K INNT Y A
12- ¥ 7 g g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
/A =T - S S S (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z vmow T F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
K'Y 7 v g o x= F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ N + N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
i F fiz (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
4 = = ik fiie (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
J = = 7z JL UA (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
v 7 = = ik e (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 n ® J o ona A H v (mg/L) — — 0.0002 — — 0.0002 — — 0.0003 — — 0.0002 0.0003 0.0002 0.0002
5 F i (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
wor U N o om X HE (mg/L) — — 0.0004 — — 0.0004 — — 0.0006 — — 0.0002 0.0006 0.0002 0.0004
D) A A = S = S /S L7 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 v ® ¥V 7 aoua A K v (mg/L) — — 0.0001 — — 0.0001 — — 0.0001 — — <0.0001 0.0001 <0.0001 <0.0001
7 = = 7z JL UN (mg/L) — — 0.0001 — — 0.0001 — — 0.0001 — — <0.0001 0.0001 <0.0001 <0.0001
KA v A 7 A 5 kB K (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
o &K X F 0 b A& WY (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TNANI=U AR OZEOALAEWY (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
% Kk O £ o b & B (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
i K N = o b A& W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
T LRI AR O EZEDOIWEDY (mg/L) — — 5.6 — — 5.7 — — 5.8 — — 5.8 5.8 5.6 5.7
~ v H kR E O EAEWY (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
i e Y A %+ N (mg/L) 3.5 3.4 3.4 3.5 3.5 3.5 3.7 3.4 3.4 3.4 3.5 3.5 3.7 3.4 3.5
IV TN, T RV N E) (mg/L) — — 65 — — 67 — — 66 — — 68 68 65 67
7% 7 J5 e Y (mg/L.) — — 124 — — 131 — — 123 — — 125 131 123 126
b2 A4 A& v Hom 3E M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
D - 7 A N N (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
- A F ) A4 K IV R F — )b (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
A A v Fom JE M A (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL ¥A (mg/L) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (& A B R FET0C) o &) (mg/L) 0.1 0.1 0.2 0.3 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.3 0.1 0.1
D H fiE 7.8 7.9 7.8 7.8 7.8 7.8 7.7 7.8 7.6 7.8 7.8 7.8 7.9 7.6 7.8
S HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL — — FHERL
B B Bl HERL HERL HERL HERL HERL BERL HERL HERL BERL HERL HERL — — FHERL
=) & (%) <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
) E () 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
5% e by F (mg/L) 0.3 0.3 0.3 0.2 0.3 0.3 0.3 0.3 0.2 0.3 0.3 0.2 0.3 0.2 0.3
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£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.14 PN /) 15
T TFERUCREOZEONEY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v v kN E O AW (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= Fr Ik OE O E W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 m v =x ¥ v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ JL - N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
THENVEEY (2= F )L NF L) (mg/L) — — <0.001 — — — — — — — — — — — <0.001
il oy F fiz (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Y /7 mnu 7 & hr=+U (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
I S = . 2 (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
= 3K ¥ — — <0.001 — — — — — — — — — — — <0.001
U3 e PR fig: (mg/L) — — 1.9 — — — — — — — — — — — 1.9
LLl- YV 7 oo o= X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )L -t-7 F )= —F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B OX 8 E (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B g (77 7 kR ) — — -0.8 — — — — — — — — — — — -0.8
JE & e = il (ImLH) 23 18 47 16 24 24 32 21 12 8 20 22 47 8 22
Ll- ¥ 7 g g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
VT IEAa s E Y ANk EPFOS) &R

NV T v Aua Ay v B (PFOA) (mg/L) — — <0.000005 — — — — — — — — — — — <0.000005
B = e i il (MPN/100mL) — — — — — — — — — — — — — — —
b % B B FOE K & (mg/L) — — — — — — — — — — — — — — —
Aok B R HE R E (mg/L) — — — — — — — — — — — — — — —
i 17 fiz ES (mg/L) — — — — — — — — — — — — — — —
ES = F# (mg/L) — — — — — — — — — — — — — — —
ES ) v (mg/L) — — — — — — — — — — — — — — —
I A S A B (mg/L) — — — — — — — — — — — — — — —
i i e Bk (mg/L) — — — — — — — — — — — — — — —
7 - JL s e (MPN/L) — — — — — — — — — — — — — — —
I X e 3 il (MPN/L) — — — — — — — — — — — — — — —
#ooE M o fH 0 EK (MPN/100mL.) — — — — — — — — — — — — — — —
7 v ®E = 7 He # # (mg/L) — — — — — — — — — — — — — — —
7 JL T 7 IN (mg/L) — — 20 — — — — — — — — — — — 20
< J % s 7 JN (mg/L) — — 3.7 — — — — — — — — — — — 3.7
it 73 A 7 v (mg/L) — — 21 — — 22 — — 24 — — 23 24 21 23
Y v i A % v (mg/L) — — — — — — — — — — — — — — —
U x|\ X X v A R RE (mg/L) — — — — — — — — — — — — — — —
7w 7 v Vi ) E (mg/L) — — 47 — — — — — — — — — — — 47
5 X I H R (mS/m) 15.8 15.6 15.5 15.5 15.4 15.4 16.1 15.4 15.2 15.0 15.3 15.3 16.1 15.0 15.5
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(mg/L)

<0.0001

(mg/L)

<0.00001

(mg/L)

<0.0001

(mg/L)

<0.00001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.000005

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.00005

(mg/L)

<0.00005

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

N 22

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.00001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0002

(mg/L)

<0.0001

(mg/L)

<0.0002

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.00005

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

St I T T NI N N NP N N N N PN N NN NN N NN e e e [ [

(mg/L)

<0.00001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.00001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

(mg/L)

<0.0001

T T % % = % [% % |4

(mg/L)

<0.00005

£ 7K H R3.6.8
13- v " 7 w7 w~ "y (D-D (mg/L) <0.0001
2,2-DPA( vl 7 Zi > ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 e = 7 A (mg/L) <0.0001
7 + 7 - — b~ (mg/L) <0.00005
7 ~ 7 Y N (mg/L) <0.0001
7 = = = 2 (mg/L) <0.00001
7 < I 7 z (mg/L.) <0.00005
7 7 7 o — JL (mg/L.) <0.0001
A >V ¥ H v %+ > (mg/L) <0.00005
A >V 7 - N Zp A (mg/L) <0.00001
A4 Y 7 v Hh ) 7  (MIPC) (mg/L) <0.0001
A4 Y 7 wm F F 7 v (PT) (mg/L) <0.0001
A4 7 w X v ) A (IBP) (mg/L) <0.0001
A : vl 7 7 N (mg/L) <0.00005
- 2 7 = il JL 7 (mg/L) <0.0001
©— kN 7 = v F v v 7 R (mg/L) <0.0001
TV RANL T (R ) (mg/L) <0.0001
A A A = S S N (mg/L) <0.0001
A X v v d (A B ) (mg/L) <0.0001
+ H Oz = = (mg/L) <0.0001
) 2 A ZD A (mg/L) <0.000005
Hh o 7 = v Ak m  —  JL (mg/L.) <0.00005
V) JL A i JL ( NAC) (mg/L) <0.0001
il L R 7 7 N (mg/L) <0.000003
x J 7 7 N > (ACN) (mg/L) <0.00005
X XY 7 i NE (mg/L.) <0.0001
7 D JL = N (mg/L) <0.0001
7 = A 7 = > 7 (mg/L) <0.0001
7 v )b = Kk o 7 = » (CNP) (mg/L) <0.000005
V4 ut L = ) N 2 (mg/L) <0.00001
J w v X% v = v  (TPN) (mg/L) <0.0001
T 7 A 4 N (mg/L) <0.00001
e 7 / i A ( CYAP) (mg/L) <0.00001
v v = N ( DCMU) (mg/L) <0.0001
Y 7 g X = 5  (DBN) (mg/L) <0.0001
Y 7 v AR A  (DDVP) (mg/L) <0.00005
CAALKRRNY(ZF L F A ARNL) (mg/L.) <0.00001
Y el % = JL (mg/L) <0.00005
>N v oKx v 7T F (mg/L.) <0.00005
v ~ % v (CAT) (mg/L) <0.00001
D4 A o A ~ U > (mg/L) <0.0001
Y A ~ T — ~ (mg/L.) <0.0001
v A ~ Y > (mg/L) <0.0001
v A 7 Y / N (mg/L) <0.00001
A A N = N (mg/L) <0.0001
7 7 DA = % (mg/L) <0.0001
7 v 7 A (mg/L.) <0.0002
F 7 DA 7 LV -7 (mg/L.) <0.0001
F A 7 7 X — K~ A F (mg/L) <0.0001
T %+ ~ > & JL 7 (mg/L) <0.0001
7 7 ) v NV + v (mg/L) <0.00001
> v 7 B 7  (MBPMC) (mg/1.) <0.0001
b~ J 7 = =4 % (mg/L) <0.00005
kY 7 w ) & v ( DEP ) (mg/L) <0.00005
N 7 Z = )b (mg/L) <0.0001
b~ ) 7 JL 7 ) N (mg/L) <0.0001
oA 7 = /X 2 R (mg/L) <0.0001
= ~ = gz A (mg/L) <0.000005
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U 2 X B Xy s = F (mg/L) <0.0001
A — )L (mg/L) <0.0001
7 - = 7 = ) K (mg/L) <0.0001
= 7 N = = N (mg/L) <0.0001
A - N N e % (mg/L) <0.0001
= A 5 = YV N (mg/L) <0.0001
vz v X ) 7 na v x F ) (mg/L.) <0.0001
v U RNy AT (mg/L) <0.0001
vy kA A F )L (mg/L) <0.0001
7 7 A ~ = JL (mg/L.) <0.0001
7 JL 7 Y 7 > 7 (mg/L) <0.0001
A= =% ( DCPA) (mg/L) <0.0001
A = N 2R A (mg/L) <0.00001
> wa < 4 X o h  (BPPS) (mg/L) <0.0001
7 v R * 2 L (PHO) (mg/L) <0.0001
7 = A b~ J N (mg/L) <0.0001
A S G . R, A (mg/L) <0.00005
7 X 4 A (mg/L) <0.00001
R 2 ) ) N (mg/L) <0.0001
= J v = ~ Zp A (mg/1.) <0.00001
) = = N (mg/L) <0.0001

(mg/L.)

7 O x ¥ Ak m ¥ v (mg/L) <0.0001
— ¥ 4+ 7 = v 4 A (EDDP) (mg/L) <0.00005
TNV T = (= a A — ) (mg/L.) <0.00001
7 v 7 o N 2 R (mg/L) <0.0001
Vi = = B 7 (mg/L) <0.0001
v A = = N (mg/L) <0.0001
> = JL 4 | — JL (mg/L.) <0.0001
A - T T S . % (mg/L.) <0.0001
o @ A Jb 7 owa v A F gL (mg/L.) <0.0001
= 7 - J > 7 2 (mg/L.) <0.0001
vy 7 v % v 7 = vV (mg/L.) <0.0001
- V VAL v 7 = NE (mg/L) <0.0001
7 I ~ 5 = L (mg/L) <0.0001
A~ v 2 Y R ( SAP) (mg/L) <0.0001
N AR L 7 oa v A F gL (mg/L) <0.0001
Zi + ¥ JL (mg/L) <0.0004
A F v X O - (mg/L) <0.0001
NV Z Bk ARAF L F XY (mg/L) <0.0001
%+ ¥ A 4 7 > N (mg/L) <0.0001
=N S . S . % (mg/L) <0.0001
F) Z oL -2-T7 ¥ LT F L (mg/L) <0.0001
= [N = = - N (NIP) (mg/L.) <0.0001
A o 2% v N (mg/L.) <0.0001
- Ak E U X — b~ (mg/L) <0.0001

£ 7K H R3.6.8

EPN Zh & >V v (mg/L) <0.00001
4 J X ¥ F & v F X vV v (mg/L) <0.00001
A Y T = v K A KX X J v (mg/L) <0.000005
-~ v F 2 N 7 = — |k (mg/L) <0.0001
cC N P - 7 2 ) K (mg/L.) <0.000005
J v b ¥ U K A F x V) v (mg/L) <0.00001
oA T Y ) v F X I v (mg/L) <0.00001
7z = hruvu FF T F xS~ (mg/L) <0.00005
MPP 2 JL ZD S v N (mg/L) <0.00005
MPP 2 % 7 N (mg/L.) <0.00005
MPP 7 ¥ > N (mg/L) <0.00005
MPP # % YV v Z2 )L & ¥ ¥ K (mg/L) <0.00005
MPP 4+ ¥ Y v A JL K v (mg/L) <0.00005
7 4 2 K A X X Vv (mg/L) <0.0001
7 v F F K A 4 F OV v (mg/L.) <0.00001
7 v ¥ 7 F K F 7 v E (mg/L) <0.0001
~ 7 F Ak v F X Vv (mg/L) <0.0001

(mg/L)
7 + o N 7 ) K (mg/L) <0.0001
A4 X X 7 v 7 Y K (mg/L.) <0.0001
A 7 = % 7 Vg (mg/1.) <0.0001
7 7 = A >/ — % (mg/L) <0.0001
= 7 7 = 7D A (mg/L) <0.0001
7 v A A 7 y I R (mg/L) <0.00001
7 = < > JL (mg/L.) <0.0001
~2 N ~ X VA > N (mg/L) <0.0002
i + = N (mg/L) <0.00005
A I 7 7 o — )% (mg/L.) <0.0001
(mg/L)

7 v X ) T )b =S= A F ) (mg/L) <0.0001
7 A b~ ) N (mg/L) <0.0001
A 7 ~ v 7 4 K (mg/L) <0.0001
4 = X L 7 o (mg/L) <0.0001
v = a2 F S = 3 P (mg/L) <0.0001
- r % ¥ ZX N T m v (mg/L) <0.0001
T b~ ~ v A = K (mg/L) <0.0001
S A S - S % (mg/L) <0.0001
% X A N JL (mg/L) <0.0001
> ¥ o K v S = F (mg/L) <0.0001
7 = I 7 = Y N (mg/L.) <0.0001
7y 0w v 7 =) Y K (mg/L) <0.0001
7 v ) X — )L ¥ A F JL (TCTP) (mg/L) <0.0001
J v b ¥ U R A A F (mg/L) <0.0001
Y 7 ma 7 = v F # v (ECP) (mg/L) <0.00005
Y v = A v N (mg/L.) <0.0001
U 7z 7 = v (mg/L.) <0.0001
D4 / 2 % 7 = N (mg/L) <0.0001
Y / 7 7 7 N (mg/L) <0.0001
Y 7 = /) a J = ) (mg/L) <0.0001
Y 7 ) N S = N (mg/L.) <0.0001
Yy 7 v a = ) (mg/L) <0.0001
v 7 = Y = )L (mg/L) <0.0001
D A = + 4 — )L (mg/L) <0.0001
Y A F L E N (mg/L) <0.0001
v A t ~ % — ~ (mg/L.) <0.00001
> 7 7 v F T (mg/L) <0.0002
D4 > A A ) v (mg/L) <0.0001
e 7 J = 7 ) K (mg/L) <0.0001
7 7 A b~ & A A (mg/L) <0.0001
7 7 JL VA 2 K (mg/L) <0.0001
F N5 7 m L ¥ v & A (CVMP) (mg/L) <0.0001
> K 5 o F —  JL (mg/L.) <0.0001
VA 7 7 - J v N (mg/L) <0.0001




2 KR KE R
[1] FERAKEEZ—EN
(2) FMLS R UYL
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£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.14 I OUN B/ L
PN e El El kil = 551 = A i) = = B B - - -
= =1 (C) 11.2 17.0 25.8 24.5 24.0 17.0 12.2 13.2 5.0 7.0 5.5 19.2 25.8 5.0 15.1
7k =1 (C) 16.0 18.5 19.3 20.0 23.0 20.5 20.0 19.0 15.0 13.5 12.0 14.5 23.0 12.0 17.6
— fi% Al (ImLH1) 0 0 0 0 0 0 0 0 0
PN 1% (MPN/100mL) 0 0 0 0 0 0 0 0 0
HKREIT AR PZDOIREDY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
K R O 2 o {8 A WY (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L kYN ZE O E WY (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
o & Y F 0 B A& W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
EE K B ZE 0O b EAE DY (mg/L) — — 0.002 — — 0.002 — — 0.002 — — 0.002 0.002 0.002 0.002
N ofli oy o m oA b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
il fid i3 RE = ES (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
YT A A A Ak T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
B MR RE 2 B K N EE G MR RE B %K (mg/L) — — 0.52 — — 0.48 — — 0.52 — — 0.54 0.54 0.48 0.52
7 v F kY E O AW (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
AU F K Y E O EDY (mg/L) — — 0.07 — — 0.08 — — 0.07 — — 0.07 0.08 0.07 0.07
Py H k& R F (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4- v %+ X A N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
VA-1,2-vrraaxF L NN T L A
12- ¥ 7 g g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
/A =T - S S S (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z vmow T F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
kY Y v om o x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ N + N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
i F fiz (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
4 = = i 173 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
J = = 7 JL U (mg/L) — — 0.0001 — — 0.0001 — — 0.0001 — — <0.0001 0.0001 <0.0001 <0.0001
v 7 = = e iz (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 n ® 7 o ona A H v (mg/L) — — 0.0005 — — 0.0005 — — 0.0005 — — 0.0005 0.0005 0.0005 0.0005
5 R P (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
7 S N E N S S Y (mg/L) — — 0.0012 — — 0.0012 — — 0.0012 — — 0.0009 0.0012 0.0009 0.0011
D) A A = S = S /S L7 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 n v ¥V 7 nona A K v (mg/L) — — 0.0003 — — 0.0003 — — 0.0003 — — 0.0003 0.0003 0.0003 0.0003
7 = £ 7R JL UA (mg/L) — — 0.0003 — — 0.0002 — — 0.0002 — — 0.0002 0.0003 0.0002 0.0002
KA v A 7 v 5 kK (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
o & X F 0 B A& WY (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TNANI=2U AR OZEOANAEWY (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
% M O £ o b & W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
il K N = o b A& W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
T LRI AR B EZEDOIWEDY (mg/L) — — 13 — — 13 — — 13 — — 13 13 13 13
~ v H RO EOIEDY (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
i e x| A % N (mg/L) 7.4 7.5 7.5 7.6 7.5 7.3 7.1 7.0 7.1 7.1 7.4 7.4 7.6 7.0 7.3
VDAV NN/ S Ay NN ¢ i (mg/L) — — 110 — — 110 — — 110 — — 110 110 110 110
7K 7 5% ¥ x| (mg/1.) — — 206 — — 219 — — 210 — — 212 219 206 212
bz A4 A& v Hom 3E M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
D - 7 A 3 N (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
- A F ) A4 Y K IV R F — )b (mg/L) — — <0.000001 — — — — — — — — — — — <0.000001
I A4 F v H om o3& M A (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL ¥A (mg/L) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (& A B R FE T o &) (mg/L) 0.1 0.1 0.2 0.3 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.3 0.1 0.1
D H fiE 7.5 7.6 7.4 7.4 7.6 7.4 7.3 7.4 7.2 7.3 7.4 7.3 7.6 7.2 7.4
S HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL — — FERL
B X Bl HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL HERL — — FERL
=) & (%) <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
) 5 () 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
5% e i) F (mg/L) 0.3 0.3 0.3 0.2 0.3 0.3 0.3 0.3 0.2 0.4 0.3 0.2 0.4 0.2 0.3
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£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.14 I OUN B/ L
T TFEUCREOZEONEW (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v v kN E O AW (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= Fr Lk OEFOIE W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 m v =x= X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ JL - N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — 0.0002 0.0002 <0.0001 <0.0001
THENVEEY (2= F )L NF L) (mg/L) — — <0.001 — — — — — — — — — — — <0.001
il oy F fiz (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Yy /7 mnu 7 kb =+U (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
I S = . % (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
= P ¥ — — <0.001 — — — — — — — — — — — <0.001
U3 e PR fig: (mg/L) — — 5.1 — — — — — — — — — — — 5.1
LLl- Y 7 v onm o= X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )V —t-7 F )= —F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B OX 8 E (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B (77 7 ke ) — — -0.8 — — — — — — — — — — — -0.8
JE & e = il (ImLH) 16 11 17 36 20 20 32 15 36 18 22 47 47 11 24
Ll- ¥ 7 g g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
VT IVEAa s E Y ANV Ky EPFOS) & R

NSV T v Aua Ay v EE (PFOA) (mg/L) — — <0.000005 — — — — — — — — — — — <0.000005
g3 = e i i MPN/100mL) — — — — — — — — — — — — — — —
b % B B FEOE K & (mg/L) — — — — — — — — — — — — — — —
Aok R B R HE R E (mg/L) — — — — — — — — — — — — — — —
i 17 fiz ES (mg/L) — — — — — — — — — — — — — — —
E = F# (mg/L) — — — — — — — — — — — — — — —
E ) v (mg/L) — — — — — — — — — — — — — — —
W <~ (mg/L) — — — — — — — — — — — — — — —
i i 2 Bk (mg/L) — — — — — — — — — — — — — — —
7 - JL v e (MPN/L) — — — — — — — — — — — — — — —
b X e ER i (MPN/L) — — — — — — — — — — — — — — —
# oo M o fH O EK MPN/100mlL.) — — — — — — — — — — — — — — —
7 v F = 7 H # # (mg/L) — — — — — — — — — — — — — — —
Vil JL T 7 JN (mg/L) — — 29 — — — — — — — — — — — 29
~ 7 % v 7 Iy (mg/L) — — 8.7 — — — — — — — — — — — 8.7
it Fige A % N (mg/L) — — 47 — — 48 — — 49 — — 49 49 47 48
Y v i A 74 v (mg/L) — — — — — — — — — — — — — — —
U o\ X X v A R RE (mg/L) — — — — — — — — — — — — — — —
7w 7 v Vi ) E (mg/L) — — 71 — — — — — — — — — — — 71
5 X I B R (mS/m) 28.5 27.8 27.4 27.1 27.9 27.9 27.9 27.8 27.3 27.1 27.2 26.9 28.5 26.9 27.6
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[1] FRAGE 2 —EN
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£ 7K H R3.6.8

|=§ 7 7 = = % (mg/L) <0.0001
=D A S S A (mg/L) <0.00001
I I x—h(EIF L — L) (mg/L) <0.0001
vy X T = v F F v (mg/L) <0.00001
= Y 7 A 77 % -7 (mg/1.) <0.0001
=4 = X = N (mg/L) <0.0001
7 A 7 = = U (mg/L) <0.000005
7 x = ~ v F F v (MEP) (mg/L) <0.0001
7 = ) 7 5 )b 7 (BPMOQ) (mg/L) <0.0001
- - ) A v N (mg/1.) <0.0001
7 - >y F A+ v (MPP) (mg/L) <0.00005
7 = v F = — L (PAP) (mg/L) <0.00005
7 = v ~ Z H# I R (mg/L) <0.0001
7 A 7 A R (mg/L) <0.0001
7 v 7 = — JL (mg/L.) <0.0001
7 o 2 Zi A (mg/L) <0.0001
7 7 = - - % N (mg/L) <0.0001
7 JL 7 v A Iy (mg/L) <0.0001
7 v F 7 7 v — ) (mg/L) <0.0001
7 = V4 2 R N (mg/1.) <0.0001
A = F 7 7D 2 (mg/L) <0.00001
A= - N —  JL (mg/L) <0.0001
7 = = A N K (mg/L) <0.0001
- o ~ A >/ — % (mg/L.) <0.0002
7 = £ -7 7 R (mg/1.) <0.0001
~ J 3 JL (mg/L) <0.0002
~ v v 7 = N (mg/L) <0.0001
~ v > = U = Vg (mg/L) <0.0001
A A A N (mg/L) <0.00005
~ N o > N (mg/L) <0.0001
A A R A A (mg/L) <0.0001
~ v 7 Z 7 JL 7 (mg/L) <0.0001
N TG Y (R 2a Y ) (mg/L) <0.0001
~ N 7 1% + — b (mg/L) <0.0001
gz A I 7 v — ~ (mg/L.) <0.00001
~ 7 F X v (= T ) ) (mg/L) <0.0001
A = - = > ~  (MCPP) (mg/L) <0.0001
A >V N JL (mg/L) <0.0001
A i 7 X 4 % (mg/L) <0.0001
A F KX F F v  (DMTP) (mg/L.) <0.00001
A 2 J A k o v (mg/L.) <0.0001
A b~ ) 7 Y N (mg/L) <0.0001
A - - 7 + % s (mg/L) <0.0001
A 7 = = JL (mg/L.) <0.0001
=+ ) B — k (mg/L.) <0.00005

£ 7K H R3.6.8
13- v " 7w 7w~ "y (D-D (mg/L) <0.0001
2,2-DPA( vl 7 Zi > ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 e = 7 A (mg/L) <0.0001
7 + 7 - — b~ (mg/L) <0.00005
7 ~ 7 Y N (mg/L) <0.0001
7 = = A 2 (mg/L) <0.00001
7 < I 7 z (mg/1.) <0.00005
7 7 7 o — JL (mg/L.) <0.0001
A >V ¥ H 7 %+ > (mg/L) <0.00005
A V 7 - v Zp A (mg/L) <0.00001
A4 Y 7 wm v T (MIPC) (mg/L) <0.0001
A4 Y 7 v F F 7 v (P (mg/L.) <0.0001
A4 7 v X v & A (IBP) (mg/L) <0.0001
A > i J 7 7 N (mg/L) <0.00005
- 3 7 = V) JL -7 (mg/L) <0.0001
© kN 7 = v F v v 7 R (mg/L) <0.0001
T RANL Ty (R ) (mg/L) <0.0001
A A A = S S (mg/L) <0.0001
A X v v A B ) (mg/L) <0.0001
) Oz = r N (mg/L) <0.0001
7 2 A R A (mg/L) <0.000005
H 7 = v Ak @ —  JL (mg/L.) <0.00005
V) JL A i JL ( NAC) (mg/L) <0.0001
7 JL R 7 Z N (mg/L) <0.000003
X J 7 7 N > (ACN) (mg/L) <0.00005
X Y 7 o > (mg/L) <0.0001
7 2 JL = N (mg/L.) <0.0001
7 = A 7 = > 7 (mg/L) <0.0001
7 v ) = k m 7 = v (CNP) (mg/L) <0.000005
J = JL = i Z A (mg/L) <0.00001
J w v X v = )  (TPN) (mg/L) <0.0001
T 7 A 4 N (mg/L.) <0.00001
e 7 / Z A ( CYAP) (mg/L) <0.00001
v v = N ( DCMU) (mg/L) <0.0001
Y 7 o X = 2  (DBN) (mg/L) <0.0001
Y 7 v ) AR A  (DDVP) (mg/L) <0.00005
VAN KE (2 TF VT A AN L) (mg/L.) <0.00001
% 7 7 = % (mg/L) <0.00005
AN - A A A % (mg/L) <0.00005
v ~ % v (CAT) (mg/L) <0.00001
D4 A o A ~ ) > (mg/L) <0.0001
Y A ~ T — ~ (mg/L) <0.0001
v A ~ J v (mg/L) <0.0001
vl A 7 Y / N (mg/L) <0.00001
A A A = N (mg/L) <0.0001
7 7 D4 = % (mg/L) <0.0001
7 v 7 A (mg/L.) <0.0002
F 7 v 7 v 7 (mg/L) <0.0001
F X 7 v X — K A F (mg/L) <0.0001
7 % ~ > il JL 7 (mg/L) <0.0001
7 7 ) IV NV v (mg/L) <0.00001
> v 7 B 7 (MBPMC) (mg/L.) <0.0001
b~ J 7 = =4 % (mg/L) <0.00005
kYU 7 m o &k v ( DEP ) (mg/L) <0.00005
N 7z = )b (mg/L) <0.0001
b~ ) 7 JL 7 ) N (mg/L) <0.0001
A - = 7 2 R (mg/1.) <0.0001
= ~ = ZD (mg/L.) <0.000005
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S S S SA SNV RD/ S S SR (mg/L) <0.0001
A — )L (mg/L) <0.0001
7 - = 7 = ) K (mg/L.) <0.0001
= 7 N = 5 A (mg/L) <0.0001
A - A R e 2 (mg/L) <0.0001
= A 5 = Y N (mg/L) <0.0001
v 7 v X ) 7 ua v T F ) (mg/L.) <0.0001
v U RNy T AT (mg/L) <0.0001
vy kA A F )L (mg/L) <0.0001
7 7 A ~ = % (mg/1.) <0.0001
7 JL 7 Y Z v 7 (mg/L) <0.0001
7 a2 = ) ( DCPA) (mg/L) <0.0001
A = N AR 2 (mg/L) <0.00001
> wa < 4 ¥ o h  (BPPS) (mg/L.) <0.0001
v = Rz e 2 % (PHC) (mg/L.) <0.0001
7 = A b~ U N (mg/L) <0.0001
A A G . . A (mg/L) <0.00005
7 & g Iy (mg/L) <0.00001
R 2 V) i K (mg/L) <0.0001
= J v = ~ Zp A (mg/1.) <0.00001
) = = = N (mg/L) <0.0001

(mg/L)

7 O X ¥ Ak m ¥ v (mg/L) <0.0001
— ¥ 4+ 7 = v & A (EDDP) (mg/L) <0.00005
TNV T = (= a Ay — ) (mg/1.) <0.00001
il % i =) A 3 N (mg/L) <0.0001
A = = x 7 (mg/L) <0.0001
v A = = N (mg/L) <0.0001
VA = I 7 = - JL (mg/L) <0.0001
A T . S . % (mg/L) <0.0001
o @ A Jb 7 wa v A F gL (mg/L.) <0.0001
= =7 - J > 7 A (mg/L.) <0.0001
vy 7 v % v 7J = vV (mg/L) <0.0001
- 7 VAL v 7 = Vg (mg/L) <0.0001
7 JL ~ = = JL (mg/L) <0.0001
A~ v 2 i R ( SAP) (mg/L) <0.0001
N R JL 7 owa v A F gL (mg/L) <0.0001
Zi + ¥ JL (mg/L) <0.0004
A F v X A4 A v v (mg/L) <0.0001
kv 7 R AATF VA F VO (mg/L.) <0.0001
%+ & i 4 7 > N (mg/L) <0.0001
- S . S . % (mg/L) <0.0001
) Z oL -2-7 ¥ LT F L (mg/L) <0.0001
= [N = = - N (NIP) (mg/L.) <0.0001
7 = S Y N (mg/L) <0.0001
- Ak E U x  — b~ (mg/L) <0.0001

£ 7K H R3.6.8

EPN %+ & >V v (mg/L) <0.00001
4 J X ¥ F 4 v F X v v (mg/L) <0.00001
A Y T = v K A KX X J v (mg/L) <0.000005
-~ v K A g 7 =z — kK (mg/L) <0.0001
cC N P - 7 2 ) K (mg/L) <0.000005
J v b ¥ U K A F xF Vv (mg/L) <0.00001
oA T Y ) v F X I v (mg/L) <0.00001
7z = v FF T F xS (mg/L) <0.00005
MPP 2 JL Z X D K (mg/L) <0.00005
MPP 2 % 7 N (mg/L) <0.00005
MPP 7 F >V N (mg/L) <0.00005
MPP # % YV v 2 )L & ¥ ¥ K (mg/L) <0.00005
MPP 4 % YV v A )L K v (mg/L) <0.00005
7 X I K A X X Vv (mg/L) <0.0001
7 a F F K A 4 F OV v (mg/L.) <0.00001
7 n ' 7 F K F 7 v E (mg/L) <0.0001
~ 7 F F v F xF v (mg/L) <0.0001

(mg/L)
7 + v N 7 ) R (mg/L) <0.0001
A4 X X a=ray) R (mg/L.) <0.0001
A 7 = % 7 NE (mg/L.) <0.0001
7 7 = 7 4 — % (mg/L) <0.0001
= 7 7 = 7D A (mg/L) <0.0001
-7 g ZX g 7 7 I R (mg/L) <0.00001
7 = < D4 JL (mg/L.) <0.0001
~ N ~ & VA > v (mg/L) <0.0002
D s = N (mg/L) <0.00005
A I 7 7 o — JL (mg/L.) <0.0001
(mg/L)

AR N A A e e B % (mg/L) <0.0001
7 A b~ ) N (mg/L) <0.0001
A 7 ~ v 7 + K (mg/L) <0.0001
A4 ~ J  Z g 7 = (mg/L) <0.0001
vy = = S — )L P (mg/L) <0.0001
- k ¥ T 2 7 ua v (mg/L) <0.0001
T b~ ~ v A = K (mg/L) <0.0001
A S A S T S % (mg/L) <0.0001
% x A N % (mg/L) <0.0001
X ¥ v K vy 7 = F (mg/L) <0.0001
7 = 7 7 = Y N (mg/L.) <0.0001
7 = ~ 7 = ) ¥ K (mg/L) <0.0001
7 v )L X — )L ¥ A F JL (TCTP) (mg/L) <0.0001
7 v v v U s AR A F (mg/L) <0.0001
Y J o ua 7 = v F # v (ECP) (mg/L) <0.00005
Y v = A v N (mg/L) <0.0001
Yy 7 v )V 7 na vy T (mg/L) <0.0001
D4 / 2 % 7 = N (mg/L) <0.0001
Y / 7 7 7 N (mg/L) <0.0001
Yy 7 = J a F v = ) (mg/L) <0.0001
Y 7 )L NS S = SN (mg/L.) <0.0001
Yy 7 o o = ) (mg/L) <0.0001
v 7 = Y = JL (mg/L) <0.0001
v A = 7 > — )L (mg/L) <0.0001
Y A F L E N (mg/L) <0.0001
v A = ~ % — ~ (mg/L) <0.00001
> 7 7 v F Tz (mg/L) <0.0002
D4 > A 7 ) N (mg/L) <0.0001
e 7 J = 7 ) K (mg/L) <0.0001
7 7 A b~ & A A (mg/L) <0.0001
7 7 JL A N K (mg/1.) <0.0001
S hZ 7 m )L B v 5k Z (CVMP) (mg/L) <0.0001
> 7 o = (mg/L) <0.0001
VA 7 7 - J v N (mg/L) <0.0001




